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Each problem is worth 10 points. Show all work for full credit, and use correct notation.
Simplify answers completely. See other side for additional problems.

1. Given p, = 0.02, p,, = 0.03, and pzy = 0.01, determine 1¢qyy

2. Given u, = 0.10, determine gx:l_Ol

3. Given pgy = (1.04)7F, determine ey .7



For Numbers 4 and 5, assume lives are independent.

4. For two lives, both age 30, determine the probability that the first death occurs within 15
years using the SULT mortality for each life.

5. For two lives, ages 25 and 30, determine the probability that the latter death occurs
between 5 and 15 years from now using DM L(w = 100) mortality for each life.



